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LAW
PAPER - II

Note :This paper contains FIFTY (50) multiple-choice assertation/reasoning/
matching questions, each question carries TWO (2) marks. Attempt All

questions.
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1. ~ Who has resolved to consitute the
Republic ?
(A) Dr. Ambedkar
(B) Constituent Assembly
(C) Central Assembly
(D) We the people of India

2. The executive power of the state
shall be vested :

(A) in the Governor
(B) in the Chief Minister
(C) in the Council of Ministers

(D) in the Chief Justice of High
Court

3, Under which jurisdiction, the |

Supreme Court hears dispute
between the Union and one or more

states ?
(A) Exclusive original

| (B) Advisory jurisdiction
(C) Appellate jurisdiction

(D) Exclusive concurrent

Law-II
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The residuary powers under

Schedule VII of the Constitution are -

vested in :

(A) President

(B) Parliament

(C) State Legislatures

(D) Chief Justice of Supreme Court
Which of the following parts of
the Constitution provides for
Emergency ?

(A) Part XVI

(B) Part XVII

(C) Part XVIII

(D) Part XX

The power of Indian Parliament to
amend the Constitution of India is

a constituent power laid down in

Article 368 by :

(A) 1st Amendment of
Constitution, 1951

(B) 24th Amendment of
Constitution, 1971

(C) 26th
Constitution, 1971

Amendment of

(D) 42nd
Constitution, 1976
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When a writ is issued to an inferior 7.

court or tribunal on ground of
exceeding the jurisdiction or acting
contrary to the rules of natural

justice, it is called a writ of :
(A) Mandamus

(B) Certiorari

(C) Prohibition

(D) Habeas corpus

Who gave the idea of lex vera’ ?
(A) Socrates

(B) Plato

(C) Aristotle

(D) Circero. |

The jural co-relative of immunity 9.

is :

(A) Disability
(B) Liability
(C) Liberty

(D) Duty
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10.

11.

(D) Legislation

What are the main sources of law

in present times in India ?

(A) Legislation and case law

(B) Legislation and custom

(C) Legislation and equity

and dJuristic
wriﬁngs

Which one of the following is an

nstance of duplicate ownership

which allows separation of the

powers of management and the

rights of enjoyment ?

(A) Vested and Contingent
ownership
(B) Sole ownership and

Co—ownership.
(C) Trust and beneficial ownership

(D) Co-ownership and Joint

ownership
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12.

13.

The aim of this theory of

punishment is to make offender, a

" useful member of society :

(A) Expiation Theory of
Punishment

(B) Reformative Theory of
Punishment

(C) Retributive Theory of
Punishment

(D) Preventive Theory of

Punishment

Which school of jurisprudence
regards law as social institution to

satisfy social wants ?
(A) Sociological school
(B) Analytical school
(C) Historical school

D) | Realist school

Law-II
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14.

Who said that ‘law is a

depsychologised command’ ?
(A) _John Gray

(B) Hans Kelsen

(C) John Austin

(D) Roscoe Pound

The state becomes an international
person the moment it fulfils the
qualifications prescribed for

acquiring statehood. No recognition

is necessary. It was laid down by :
(A) Hague Convention of 1907

(B) Monte Video Convention of

1933

(C) Draft declaration on the Rights
and Rules of States drawn by

International Law Commission

in 1949

(D) United Nations Charter
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16. Which of the following options is

relevant for the exercise of ‘ad-hoc’

jurisdiction by the International

Court of Justice ?

(A)

(B)

(&)

(D)

Law-I1

The state parties to a treaty or
convention stipulate that they
shall refer their disputes

occurring in future to ICJ

The state parties accept
Jurisdiction of ICJ on the
recommendation of the

Security Council

On the occurrence of a dispute
the state parties, through a
notification or a special

agreement confer jurisdiction

of the ICJ

The state parties adopt a
declaration accepting the
jurisdiction of ICJ under
Optional Clause 36(2) of the

Statute of ICJ.
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17. “International law is the body of
customary and conventional rules
which are considered 'legall-y binding
by civilised states in their
intercourse with each other.” This
was stated by :

(A) Grotius

(B) Oppenheim

(C) J. H. Starke

(D) Schwarzenbergal

18. When did United Nétions
Jonvention on Law of the Sea, 1982
came into force ?

(A) 1982
(B) 1992
(C) 1996
(D) 1994

19. Which one of the following is not
an organ of the United Nations ?
(A) Economic and Social Council
(B) International Court of Justice
(C) Trusteeship Council
(D) World Héalth Organization

Law-II
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20.

21.

Under which of the following
instruments an individual can
petition before the Human Rights

Committee ?

(A) Universal Declaration of

Human Rights

(B) International Covenant on

Civil and Political Rights

(C) International Covenant on
Economic, Social and Cultural

Rights

(D) Optional Protocol to Covenant

on Civil and Political Rights
A born Christian girl brought up by
a Hindu family married a Hindu
boy as per shastric ceremonies. The
marriage 1s :
(A) Valid
(B) Invalid
(C) Voidable at the option of girl

(D) Voidable at the option of boy

Law-I1
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22. Custom was considered to be one of
the source of Hindu Law. Custom

inorder to be valid :
(A) must be ancient
(B) must be ancient and certain

(C) must be ancient, certain and

reasonable

(D) must be ancient, certain,
reasonable, not opposed to
public policy and not forbidden

by any law in force

23. Marriage of a Muslim male to his

maternal uncle’s daughter is :
(A) Valid

(B) Void

(C) Voidable

(D) Irregular

24. Divorce by mutual consent in

Muslim Law is called :

(A) Mutah

(B) Mehr
(C) Hadith

(D) Mubarat

Law-II
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25.

26.

Which one of the following grounds
is not available to a Muslim wife to
seek dissolution of marriage under
Dissolution of Muslim Marriage Act,

1939 ?

(A) Option of Puberty

(B) Impotency of husband

(C) Cruelty of thg husband

(D) Change of religion by husband

Iddat under the Muslim Law refers

to :

(A) divorce by mutual consent
(B) divorce initiated by wife
(C) false accusation of adultry

(D) a period of seclustion which a
Muslim woman has to observe

on dissolution of her marriage

before she married again
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28.

29.

Which one of the following promises

is enforceable ?

(A) A promises to pay Rs. 5,000 to
B who
drowning

(B) A promises to pay Rs. 5,000 to
his son

(C) A promises to donate Rs. 5,000
to an officer’s club

saved him from

(D) A promises to pay Rs. 5,000 as
additional fee to his advocate
for winning a suit

A promise made without any

intention of performing it amounts

to :

(A) coercion

(B) undue influence
(C) fraud

(D) force

The

consideration means ;

doctrine

(A) Consideration may move from
any person who is related to
promisee

(B) Consideration may move from
any person except the promisee

(C) Consideration may move from
promisee or any other person

(D) Consideration must move from

the promisee alone

.of privity of
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31.

32.

30. A and B agree to marry each other.

Before the time fixed for marriage,

A goes mad :

(A) The contract becomes void

(B) The contract becomes voidable
at the option of A

(C) The contract remains valid

(D) The contract becomes voidable
at the option of B

A standard form of contract is one

in which the terms are :

(A) fixed by the state to which
contracting parties belong

(B) pre-determined by the custom
of trade to the
_contracting party belongs

(C) fixed by the

transactions of

which

mercantile
common

gccurrence

(D) fixed by one of the parties in
advance and are open to
acceptance by any one

Which of the following does not

amount to breach of contract /

(A) Non-performance of obligations

(B) Performance in a manner not
in accordance with the contract

(C) Performance at a time not in
accordance with the contract

(D) Performance of obligations

Law-1I
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33. Assertion (A) : In the event
of violation of
any legal right
(Commission
of Tort) the
aggrieved party
is entitled
to recover
unliquidated
damages.

Reason (R) : The object of
awarding damages
to the aggrieved
party is to put him
in the same position

in which he would

have been if the

Wfong would not
have been
committed.
Damages are,
therefore, assessed
on that basis.
(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)
(B) Both (A) and (R) are true but
(R) is the correct explanation
of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is correct

Law-II
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34. X,

35.

\
 Law-II

an industry engaged in
manufacturing of chemicals, stored
toxic gases in tanks consisting of
concrete. Due to unknown reason,
the tanks collapsed and the gases
leaked. A, who was an employee
working in the industry and B, who
was living in the . neighbourhood
suffered serious health problems due
to inhaling of these gases. They

sued X for damages.

(A) X is not liable as the cause of

leakage of gases is not known

(B) X is liable to pay damages to
A and B both

(C) X is liable to pay damages to
A only

(D) X is liable to pay damages to
B 6nly '

Violation of a right actionable per

se means :
(A) not actionable

(B) actionable without proof of any

damage

(C) actionable on proof of actual

damage
(D) actionable against the world at

large
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36.

37.

-(A) X can

The Railway authority allowed a
train to be over-crowded. In
consequence, a legitimate
passenger, X, got his pocket picked.
Choose the most appropriate

answer .

sue the Railway

authority for the loss suffered
(B)

X cannot sue because he has
given his consent to travel in

an over-crowded train

(C) X cannot sue because there is
no infringment of his legal
right on the part of Railway

authority

(D) X cannot sue because Railway

authority is a statutory body

The lialc;ility of master and servant
for the .wrongs committed by
servant in the course of employment
is :

(A) joint and several

(B)
(C)
D)

joint but not several
several but not joint

may be joint or several
according to the facts of the

case

Law-1I
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38.

39.

40.

Defence of ‘Act of God’ is available

if the event resulting in damage is :

(A) extraordinary and cannot be -

guarded against with ordinary

prudence
(B) occur due to natural causes

(C) unforseseeable and occur
without intervention of human
agency

(D) All of the above

“A”’s friends compel him to drink

liquor. He drives car after that and

meets with an accident and
seriously injures “B”. A is guilty of :

(A) Causing simple hurt

(B) Causing grievous hurt

(&)

(D) He is innocent

Rash and negligent driving

“A” sees a deep and big pit on the
road. He does not tell anybody. A
two-wheeler comes and falls in the
pit and the driver gets injured. A
is guilty of :

(A) simple hurt

(B) negligence in tort

(C) dereliction of fundamental
duty '

(D) he has not committed any

wrong

38.

39.

40.
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4].

42.

43.

For the offence of conspiracy the

minimum number of persons

required are :
(A) Five

(B) Two

(C) Seven
(D) Ten

The decision of Supreme Court in
Ratinam Vs. Union of India,
declaring Section 309 of Indian
Penal Code is violative of Act 21 of
the Constitution was subsequenty

reversed in :
(A)
(B)
(C)
D)

Gian Gaur Vs. State of Punjab
Bachén Singh’s case
Nanavathi Vs. State of Punjab
None of the above

“A” being executor to the will of a
deceased person, dishonestly
disobeys the law which direct him
to divide the effects according to the
will and appropriate them to his own

use. “A” has committed :
(A)
(B)
(C)
(D)

Criminal misappropriation
Cheating
Criminal Breach of Trust

Criminal Intimidation

Law-I11
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44.

45.

46.

To claim total immunity under

Section 82 of Indian Penal Code, the

child must be below :

(A) 7 years of age

(B) 10 years of age

(C) 12 years of age

(D) 14 years of age

Registration of Trade Union may be

cancelled by the Registrar of the

Trade Union, when :

(A) Leaders of the Union are not
working well

(B) Registration Certificate has
been obtained by fraud

(C) Members of the Union donot
take

activities

interest in Union

(D) Employer does not want to
registered union

In which of the following cases the

court reiterated the well known

legal position that even a temporary

worker can claim retrenchment

compensation if he is covered by

provisions of Section 25-F of the

Industrial Disputes Act, 1947 ?

(A) Tatanagar Foundary Co. Vs.
Their Workmen

(B) Management of Willcox
Buckwell (India) Ltd. Vs.
Jagannath

(C) Barsi Light Railway Co. Ltd.
Vs. Joglekar

(D) Modern Stores Vs. Krishandas

Law-II
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47.

48.

- (B)

Which of the following is not a
‘unfair labour’ practice, on the part

of the employer ?

(A) Threatening a look-out or
closure, if trade union is

organised

(B) To establish employer-
sponsored trade union of

workmen

To refuse recognition of

(C)

registered trade union

(D)

To indulge in acts of force or

violence

In which of the following cases, did
the Supreme Court give a wide
interpretation of the word ‘Industry’
under the Industrial Disputes Act,
1947 ?

(A) Safdarjung Hospital Vs. Their

Workmen

University of Delhi Vs.
Ramnath '

(C) Banglore Water Supply and

Sewage Board Vs. Rajappa

(D) Cricket Club of India Vs.

Bombay Labour Union

Law-II
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49. Retrenchment means :

(A)

(B)

(O)

(D)

50.

a... '

(A)

(B)

(®)

(D)

Law-II

Voluntary retirement of

workman

Termination of the service of
a workman on the ground of

continued ill-health

Termination by the employer
of the service of workman for

any reason whatsoever

Termination of the service of
the workman as a result of the

non-renewal of the contract of

employment

Right to form a Trade Union is

Fundamental Right
Legal Right
Equitable Right

No Right
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